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ODD SEMESTER EXAMINATION, DECEMBER - 2019

[ Third Semester| Three Years Diploma Course in Electrical Engineering [328]

[Third Semester] Three Years Diploma Course in Electrical IEngineering (Industrial Control)

1329]

[ Third Semester] Three Years Diploma Course in Electronics Engineering (330

[Third Semester] Three Years Diploma Course in Electronics Engineering (Modern
Consumer Electronics Appliances) [331]

[Third Semester] Three Years Diploma Course in Electronics Engineering (Advance
Microprocessor & Interface) [332]

[Third Semester] Three Years Diploma Course in Electronics Engineering (Micro
Electronics) [333]

[Third Semester] Three Years Diploma Course in Instrumentation & Control Engineering
[338]

[Third Semester] Three Years Diploma Course in Mechanical Engineering (Automobile)
[341]

[Third Semester] Three Years Diploma Course in Mechanical Engineering (Computer Aided
Design) [342]

[Third Semester] Three Years Diploma Course in Mechanical Engineering (Production)
[343]

[Third Semester] Three Years Diploma Course in Mechanical Engineering (RAC) [344]

[Third Semester] Three Years Diploma Course in Mechanical Engineering (Maintenance)
[345]

[Third Semester] Three Years Diploma Course in Chemical Engineering [352]
[Third Semester] Three Years Diploma Course in Computer Science and Engineering [355]
[Third Semester] Three Years Diploma Course in Information Technology [356]

[Third Semester] Three Years Diploma Course in Electrical Engineering (Lateral Entry)
[378]
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[Third Semester) Three Years Diploma Course in Electrical Engineering (Industri
{Lateral Entry} [379]

[Third Semester] Three Years Diploma Course in Electronics Engineering ( Lateral Entry)
[380]

[Third Semester] Three Years Diploma Course in Electronics Engineering (Modern
Consumer Electronics Appliances) {Lateral Entry} [381]

[Third Semester] Three Years Diploma Course in Electronics Engineering (Advance Micro
Processor & Inerface) {Lateral Entry} [382]

[Third Semester] Three Years Diploma Course in Electronics Engineering (Micro
Electronics) {Lateral Entry} [383]

[Third Semester] Three Years Diploma Course in Mechanical Engineering (AutoMobile)
{Lateral Entry} [384]

[Third Semester) Three Years Diploma Course in Mechanical Engineering (Computer Aided
Design) {Lateral Entry} [385]

[Third Semester] Three Years Diploma Course in Mechanical Engineering (Production)
{Lateral Entry} [386] https://www .bteuponline.com

[Third Semester] Three Years Diploma Course in Mechanical Engineering (RAC) {Lateral
Entry} [387]

[Third Semester] Three Years Diploma Course in Mechanical Engineering (Maintenance)
{Lateral Entry} [388]

[Third Semester] Three Years Diploma Course in Computer Science and Engineering {Lateral
Entry ) (389]

[Third Semester] Three Years Diploma Course in Information Technology {Lateral Entry}
(390}

APPLIED MATHEMATICS -1

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks: 17

NOTES :

i)  Attempt all questions.

i) Students are advised to specially check the Numerical Data of question
paper in both versions. If there is any difference in Hindi Translation of
any question, the students should answer the question according to the
English version.

i) Use of Pager and Mobile Phone by the students is not allowed.
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Q1) Answer any ten parts of the following, from parts a to e select the correct
choice : [10x1=10]
_ 1 4 =2 i
a) Ifmatrix 4= 2.3 3 and B= } value of A+B is
5 0 -4 0 3 -
3 7 3] 3103
D |5 3 -6 D15 3 -5
3 7 3] _
iv) None
i |5 5 )

o’z
b) If u=xlogxy, value of 5}-,7 is

X
) l+logxy ) N
y
x2+y
i) — iv) None
y+x

oz
¢) Iz =3x? +Sxy+7y2, The value of — is

ox
) - 6x+14y i) Sx+6y
m) 7 iv) None
d) The solution of the differential equation (1 + x)% =4+ yis
) T+y=c(l+x) i) 4+y=c(l+xy)
i)y 4-y? =c(l—x) iv) None
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€) A problem in statics is given to three students A, B, C, whose chances
111 .

of solving it are 332 respectively the probability of, that the problem

h)

9

k)

F - 9325

will be solved is

1 .2
1) 3 1)
w3
iii) 2 iv) None
1 2 3
Find the rank of the matrix 4={4 5 6
3 435

If x=rcosf,y= rsin@, find the value of J(EJ

r.g

3
Ify=ax3+bx2+cx+d, find iﬁ
dx?:

wod aurjuodnaig mmm//:sdny

IfF=xf+ﬁ+zE, find divy.
Evaluate -ll._][(xz+y2)dxdy.
00

Find the valye L{ScosZt ~2sin4t} .

Evaluate I’(.. ':IT_ )

4
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(16,350 whvaf] (5x2-10)
Q2) Answer any five parts of the

following:

a) Define Herm itian and skew symmetric matrx.

b) Which surface is represented by the equation 9x? - y* —4z7=36.

~2
cZ

c) If z=xsiny + ysinx, find P

d) Solvethe equation sin”' [% =x+y-

Evaluate L 5 +—~6——+—1—-}
°) 244 s=2 S

cos@ sina _
) find A~
—sin@ cos&

)?1=(2,3,5) and )_{2:(4,6,10) form linearly

f) If matrix A=l:

g) Prove that vectors
dependent set.

Q3) Answer any two parts of the following;: [2x5=10]
1 4 6
a) Ifmatrix A={4 2 —3 | find adjoint matrix of 4.
3 -1 2
ou Ou Ou
b) Ifu=f(y-xz—y) thenprove that —+—+—=0.
ox oy Oz
.y 4+ ix'y dy
c) Solve the equation ————5-=—.
< +3x° dx
F - 9325 5 (P.T.0.)
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{16,350 it} - |2x5=1g
Q4) Answer any two parts of the following: |
8 -6 2
i atrix A=|-6 7 -4
a)  Find Eigen values and Eigen vectors of the m N
b)  Solve the equation (93 +D*-D- l)y =sin(2x +3)-
. e ) 2
) If ¥ =xi+y+zk,showthat V.5 = — 7
(x +y 4z )
Q5) Answer any two parts of the following : [2x5=10)

a) A coinis tossed 12 times. How many times do you expect getting?
i) 4 heads

i)  Maximum 4 heads

b) Find Fourier series for the function

f(x)z{—fr—zr<x<0

x O<x<gx

2
c) Ify =acos(logx) + bsin(logx), prove that x2%+x%+y =0.

¢ ¢ &
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(= sqae)

1 1) weh uw = B

i) wiaRiEt @ wee & w2 R 3 aw-Ta & gl orEdl # wiThE IRy W
firem = o) afR R wea ¥ R arare d R goan &t fivwan }, @ clamdi v
&1 I A IR F AR 3

iii) whenfia g Hrarse wR/AeR 1 wa W T R

W.1) PrefRea § 1 7a wm e SR wm o @ 9 7 ad e g1 [10x1=10]
2 3 5 1 4 -
A IR A= 3R B= A+B & AR
) [s 0 -4} [0 3 -1} ¢
o [37 3] 3 -1 3
) |5 3 -6 s 3 -5
(3 7 3]
i) 53 o iv) W
8’z
a) aRt u=xlogxy, — T WA E
oy
) 1+logxy i) ;
2
iii) x2+y iv) a’)rg:r@f
Y +x
F - 9325 7 (P.T.0.)
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[16,350 uftra)
2 2 62
R) e z=3x"+5xy+7y ,E;E.Tmi
) 6x+14y i) S5x+6y
i) 7 iv) o adi

2) wfiwon (1+x]§‘:—=4+y FIEA 2
) T+y=c(l+x) i) 4+y=c(l+xy)

ii1) 4—y2=£'(1—-x) o iv) wEad

. 111
|q) A,B,Cﬁwmmm@a%ﬁn%maﬂzﬁmﬁﬂmE,E,Z%a
| U 7 A W TAE A R U ¥ F @ W R Wi @
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: 1 L2
) 3 i) 5
) 3
iit) 1 iv) g T
1 2 3
) g A=|4 5 6| =R amhfm
3 4 5

®) 4’ x=rcosd,y=rsiné, J(x’;)wmamaﬁlﬁﬁi
r,
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i
) “ﬁ,_\‘=wc‘+bx2+cx+d.f—ﬁ%ﬂmmw’
) R =i+ )+ 2k, divF = AR TR AR
X
) Hx +v dxc{vmmmﬂﬁ!ﬂl
00

W) L{Scos2r - 2sin4s} 1M wa SRR

) f(—li) = WA 7 SRR

%.2) F=feiem % w4 ota wm @ SRR [5%2=10]
¥) Toifra s Rren aafta sreggl w i Hife
q) wlEw 9x? - ) — 422 =36 frm ol A Prefim Fa d7

2
2 1 wm I AR

®) AR z =xsiny+ ysinx,
x

2) Sin_'[%]zxi-y T B

_ 6
7) L'{ 23 + +;—l4—}mmamf-ﬁrﬁtﬁl

s°+4 s-2
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1) R wmg A:{ co'sa' sina}, A ailm.m?ﬁﬁrﬂ!
—=sina Cosa
®) R $fe feafm X, =(2.3,5) st X, =(4,6,10) Yo wa wgera T
]
%.3) Frfofa # =i 3 wm @ SR [2x5=10]
1 4 6
A) WA 4=4 2 -3|, A= ugE=w ey 7@ SRR
3 -1 2

) Wou=f(y-rxz-y)hg DR %*?a}'* -0

o, o
0z

3 2
7) Hﬁm%ﬁ%szl 77 BRA
x°+3xy° dx

W.4) frafeRas o w1 3 wm e R - [2x5=10]

8 -6

HN) JEg A=|-6 7
2 4

2

—4 | % Eigen WR #en Eigen wfew 7 9
3

a) m&am(D’+D’—D—1)y=sin(2x+3)aagmﬁrﬁm

”) RERW v = 5 + ) + 2k REmERE V.- 2

F - 9325

(x2+y2+22)y2 '
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w.5) Fatafum § w21 am @ Sifm [2%5=10]

H) vw W |2 W ToEn TO A

) ur v
i) st 4 yid
3m & nirea 7w AR
) mf(xj={;”';’:::ja:%amauhmman

®) o y=acos(logx)+bsin(logx), fag PR 6 x° i{+x%+y= 0.
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